Division of Fractional Numbers

. Find the reciprocal of each of following fractions:-

3 9 1
A== B. - = C. — =
7 5 11
o 5 _ Ezs_ IE13_
.ﬁ— .8— . 5—

Also classify the new fractions as proper (P), improper (IP) and whole numbers (W).

. Find the value of:-

3 7 1 1
A7+=-= B_6+—=— C.5_+2_=
5 8 6 2
4 2 1,3 !
D.—-——% == E.Z———= F__1_= —————————
9 3 3 5 2
. Divide:-
1
A. 5-by12
3
2
B. 7—-by2
9by6

C. 162by22
3 9

5 1
. By what number should 5 P be multiplied to get 37 2 ?

5 2
. Mihir can cover a distance of 20 p kmin6 3 hours on foot. How many km per hour

does he walk?

. If the cost of a silk chocolate is 70 g how many chocolates can be purchased for 210 % ?



1 2
7. The product of two fractions is 16 > If one of the fractions is16 3 find the other.

1 1
8. The area of a rectangular room is 67 2 square metres. If its breadth is 7 2 metres, find

its length.

3
9. Arope of length 8 2 metres has been divided into 8 pieces of the same length. What is

the length of each piece?

3
10.Kaveri reads p of a book. He finds that there are still 56 pages left to be read. How

many pages are there in the book?





